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. 'K* shell, it emits

A 10 cm long solenoid has 100 turns. What will b
wd through it?-

micro ampere curren
A) 4nx 10™ tesia,
B) 4x x 107 tesla.

LIS pas

f

The kinelic enq'rgy K.E., with which the electron strikes the

A) K&, = a?V.’
E‘J Ktﬁt 5 j‘i,'l.:rj'ul

o

LASER is an acr ,:";-'f-‘l"l_'ﬁ.-lr-: - .
A) Light amplification by stimulated emission of

~ radiation. _
8) Light annihilation b
radiation.

y stimulated emisslon of

X-rays can be proﬂucc:d by bombardment of

A) Protons.
B) Electrons. -

~aser light is monochromatic which means:
A) 1t consists of one ray of Hght.
5} It consists-of one wavelength.

if an electron in the ‘K’ shell is removed and 3
a photon of energy;

ﬁ..) N .F;-{n-"- EL“ Ek{-
L‘lj he= EL"E;;-

Which of the following proper
"tube? .

A) - It must have low melting point.

B) It must have low 2

‘Which of the following can be

A) Optical pumping,
3) - Optical fit;re. :

What is the charge on alpha particles emitted during the phenome

A) +e,:
B) -e,

A radioactive nuclide decays hy'cmittinﬂ an a-

the nucleon number
A) -4:
B} _1| . . o

A half-life of sodium=24 is
** A) 6 hours,

B) 15 hours.

Which of the following is

A) Severt,
B) Gray.

In a radioactive phenomenon observation shown in figure where o d
electric or magnetic field (not shown |

facebool%.com/abdulaleem4

A) : a Is charged particle,

B) als neutral particle

tomic number,

will he:

1

unit of absorbed dose? | i

a4

ty must be there in a substance so that it ca

used to produce population inversion forthe e

which I_S-HE-'EEI to estimate the U:.*!urnie {

"

n the figure). What is the reason of los

Q) It consists of photons having 1 eV enerqgy.

C) N/hgum=E,~Fy.
D‘) .h fruz E{"EL.

n uinc'}_rﬂn from "L’ shzl! jugips to eccup

C) It mus: have high reflecting ability,
D) It must have high atomic numbor.

C) Optical instrurent,
D) Optical polarization.

.
3
-~ e

C) ¥
D) +2e.

2y (R
b)Y =3;

C) B hours.
D) 15 days,

C) Roentngn.

-

D) CL:l'i?.

mission of Laser?

non of radioactivity?

L]

f blood in a patient:.

e the magnetic field inside it along its axis if one
" €C) 4z x 167 tesla. :
D) 4xXx 10%%lesia.
target is given oy:
C:J I{IE'. B r?r:t
E"'I' LA lf_'l,-."
i.-r‘-j - aft. == QY
C) Light amplitude of stimulated emission of-
. radiation. S e
D) Ught amplification by stimulated emisslon of
radio.
21 B on target raetal:
\ - ¥ ’
o C) - Neutrons.
D) Alpha particles.
C) Trconsists of carbon monoxide Jas.

Y the hole in the

7 be used as target in X-ray

particle, a B-particle and a y-vay photon, the change in

aviati:s lesser than f In some
deviation of «?
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T\l}ﬂ; Is heavier particie,

L) .« is lighte: particlz,
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